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2023

ECONOMICS
( Honours Elective )

Paper : ECO-HE-6026
( International Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o TR T fiw
(a) What is the main reason of intematioﬁal
trade?
SIPESF AR o1 a1 R 2

(b} Who said that a separate theory of
international trade is necessary?
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(d

(e)

| (9

i)
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(2)

What is factor endowment?

AR gl [ oA & 2

Define free trade policy.
T JfIes NS e fran |

What is protectionism?

HHRM & 2

Mention one factor affecting the pattern
of world trade.

Ry IMER @ ARSI 9B BowE
T '

Write one assumption of Heckscher-
Ohlin theory of international economics.

e WRIRY @R-APE T 9B
Sy fordt |

State one objective of international
macroeconomic policy.

e RN SARR @b SoRT T
!

Define tariff.
e wigen
{ Continued )

0

(3)

Mention any one purpose of a trade
quota.

Wm?rﬁaﬁﬁwﬁtm«ﬁmaﬁm
S 4

2. Answer the following questions : 2x5=10
T fdl eppigRd Be i
(a) Write two subject matters of
international economics.
ST S 1o Rewsg o |
(b) Mention two reasons of trade according

()

(d)
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to Ricardo.

RPE’3 e A 1 PR TEs 3401

State any two limitations of the

Heckscher-Ohlin theory of international
trade

-wﬁaamwmaﬁwwﬁﬁﬁ@m ‘
1 Rl 7% = |

What‘ is the main argument of Leontief
paradox?

Prafe e o1 gty 2
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(e)

(4)

What are the two types of exchange
rate?

AT T 2o 1 R R 2

3. Answer any four of the following questions ;

5x4=20

T 2PIARE R @I wifeR e faan -

(@)

Explain the reasons which led to the
evolution of international economics as

. a distinct branch of economies.

(b)

().
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HYRET GO = M Rowd WS

HYANSY FARFP PR 0 37 |
Explain how international trade affects
production. '

SREeF MR AR Teome o ReR
FE, AT T4 '

Why is localization essential for

international trade? Give reasons.

SESF AT IR0 Tt R @Fgoy 2
PR wofid |

( Continued )

(5)

{d) Distinguish between tariff barriers and
non-tariff barriers.

% AT WF TA-u% Afmed odw

fdfg 31

(e} Discuss the impacts of financial
globalization.
REW CIFPRFIT SSIPHR SO 9 |

() Write any five features of European
Monetary system.

AT Y7 IER R e <Ay cafigy o 1
4. Answer the following questions : 10x4=40
TS A1 PR Tee fian

(@) Evaluate the importance of the
Ricardian theory of international trade. 10

Reré’s weifes e wathm @wT T
SN

Or / 51
Discuss how the Heckscher-Ohlin theory
explains international trade. 10
- v9R @om e e
T I, ST 3547 |
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(c)

A23/707

(6)

Explain the technological gap model of
international trade. Is it superior to the
Heckscher-Ohlin theory? 7+3=10

wEE e ISR RSRIR 3 oo I m
1 | G O (WR-9'o oot e 2

Or / 3411

Critically discuss the product cycle
theory of international trade. 10

SR AT TATA 5F TG IACATSI-
TSI S 3 |

Discuss arguments in support of free
trade. Would you support the policy of
free trade for an underdeveloped

country? 6+4=10

{@Wﬂ#{wwvrmwwr
Se (71 99 I Bt 1% e e
FACA ?

Or/ 93r

Analyze the effects of tariffs in a partial
equilibrium system. 10

P SR ITT© B Aoz Romd
F]1 : :

( Continued )
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(7))

" {d) Distinguish between fixed and flexible

exchange rates. How is the equilibrium
rate of exchange determined under
flexible exchange rate system? 4+6=10

R ue TWan R g9 To1 N B
A R T TS @A ST AR
FTNY?

Or / &=[1

State the main features of multinational
enterprises. Explain the role of
multinational enterprises in inter-
national trade. _ 4+6=10

TR ﬂll%‘“’"{« iy hp@l—"‘!? IS 91|
TR e IR@MeF AP phw
T
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